HSC 2001 - Biology

Question 6
Question 6
6 Fossil evidence indicates that the Australian environment in the past supported a large
and diverse range of megafauna. The megafauna has now been displaced by a variety of
smaller marsupials.
What is the best explanation for this?
(A) Smaller marsupials coped with climatic changes, and survived.
(B) Larger marsupials reduced in size so as to cope better with climatic changes.
(C) A meteorite collision caused a mass extinction of the megafauna.
(D) Introduced plant species were not a suitable food for the megafauna.
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 46.4 59.6 70.3 84.8 94.6
B 245 27.5 22.6 13.8 54
Cc 10.9 3.3 2.2 1 0
D 18.2 9.3 5 0.3 0
N 0 0.3 0 0.1 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the

borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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